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1. (a)

Function swmbl (n)

k=1
Do While kK < n + 1
gurbl = surkl + ((-1) * kK] * (kK * Z - 1)
Ek=k+ 1
Loop
End Function
[10]
(b)
Sub sumbZ ()
ret = InputBox ("enter here the walue of n", "the sum™)
k=1
Do While kK < n + 1
BE=E+ ((-1) ~ K * (kK * & - 1)
k=k+ 1
Loop [10]
(c)
Function swmbhi (n As Integer) As 3ingle
gurbi = (-1 + ((-1) * ) ¥ (-1 +n+n ™ 21 F 2
End Function
[5]
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[10]



Sub plot()

' plot Macro
' scatter plot + fitting of points

' Keyboard Shortcut: Ctrl+s
Range("A1:B8").Select
ActiveSheet.Shapes.AddChart.Select
ActiveChart.SetSourceData Source:=Range("'Sheet1'!ISAS$1:5BS8")
ActiveChart.ChartType = xIXYScatter
ActiveChart.SeriesCollection(1).Select
ActiveChart.SeriesCollection(1).Trendlines.Add
ActiveSheet.ChartObjects("Chart 1").Activate
ActiveChart.SeriesCollection(1).Trendlines(1).Select
With Selection
.Type = xIPolynomial
.Order=2
End With
Selection.Intercept =0
Selection.InterceptlsAuto = True
Selection.DisplayEquation = True
Selection.DisplayRSquared = True
End Sub [10]

(c) The slope and intercept are the values given in the lower left hand side corner of
the picture in part (a). [5]

3.
SJub sums ()

Dim A Az Variant
L = Range ("BE1:D3™) .Value

k=1

1 = 0

32 =0

33 = 0

For k 1 Ta 3

=1 =1 + 4(l, K

32 = 32 + A2, k)

33 = 33 + A3, k)

Next k

If 51 = 1 And 52 = 1 And 33 = 1 Then

retl = MsgBox (A is an stochastic mwatrix™, , "matrix™)
Else

retZ = MsgBox (A is not an stochastic matrix™, , "mwatrix™)
End If

End Sub



The points would be roughly distributed as follows: 2 points for correct definition of A, 10
points for the correct loop structure, 5 points for the correct if structure, 8 points for the
correct MsgBoxes.

4.

Private Sub Tog Click()

If Tog.Value = True Then

ret = M=gBox("toggle is clicked"™, 32, "Togglebutton™)
El=e

TBox.Value = "toggle i= false™

End If

End Sub

The rough distribution of points is: 9 points for correct if structure, 9 points for correct
MsgBox. 7 for correct use of the TextBox.



